) YPC

(e 1S09001
375 B 4ot bl i
AS C IR EEH 1R
ASC Series Flow Control Valve
Model:ASC-08
pressure:0~0.9Mpa
ASC-06 ASC-08
B iT%%3 Ordering Code B #11& Specification
ASC — 08 £ £ Mode ASC-06 ASC-08 ASGC-10 ASC-15
I I T{E4\ /& Working medium =5 Air
RIS #BEORF B O Portsize G1/8" G1/4" G3/8" G1/2"
Series Code Port Size
ASC: B [937 1F 06:G1/4" 25:G1" {8 A £ 775E & The use of pressure 0.5~9.5Kgf/cm?
ASC: One—way_ throttle valve ] 08:G1/4" 32:G1-1/4" {RIEM E 77 Max. proof pressure 15.0Kgf/cm?
i {& iR B 5 B Working temperature -0.5~60°C
16:G1/2" 40:G1-1/2" -
20:G3/4" ZAEHF R Material $2& % Aluminum alloy 6061-T6| %24 #Aluminum alloy ADC-16
FRBTRE oas 200 450 1250 1650
. 7S Symbol Standard rated o [
flow ChecI:]vave 400 800 1500 2500

mam

B % R~ & Overall Dimension Drawing(mm)

ASC-08

ASC-15

z 2-0F T

i {b’af [&]

|1 el - m

| b *

n!\ Bl _%Jf

B
Mﬁﬁg‘ﬁm A B G D E = G H I 4 K L M N
ASC-06 22 | 32 Gi/8" 18 | 23 | 43 | 468 523 | M6x05 Mi2x1 10 | 18 | 26 | 86
ASC-08 26 | 36 |G1/4"| 23 | 27 43 | 50.8  56.3 | M6x0.5 Mi2x1 135 18 | 30 | 8.6
ASC-10 35 | 50 | G3/8" 32 | 37 53 | 65 74 M8 % 0.75 M16x1.0 | 17.5 = 28 | 405 | 10.2
ASC-15 35 50 Gi/2* 32 | 37 53 | 80 74 M8 % 0.75 M16x1.0 | 17.5 28 | 405 | 10.2




	1-控制元件-01
	1-控制元件-02
	1-控制元件-03
	1-控制元件-04
	1-控制元件-05
	1-控制元件-06
	1-控制元件-07
	1-控制元件-08
	1-控制元件-09
	1-控制元件-10
	1-控制元件-11
	1-控制元件-12
	1-控制元件-13
	1-控制元件-14
	1-控制元件-15
	1-控制元件-16
	1-控制元件-17
	1-控制元件-18
	1-控制元件-19
	1-控制元件-20
	1-控制元件-21
	1-控制元件-22
	1-控制元件-23
	1-控制元件-24
	1-控制元件-25
	1-控制元件-26
	1-控制元件-27
	1-控制元件-28
	1-控制元件-29
	1-控制元件-30
	1-控制元件-31
	1-控制元件-32
	1-控制元件-33
	1-控制元件-34
	1-控制元件-35
	1-控制元件-36
	1-控制元件-37
	1-控制元件-38
	1-控制元件-39
	1-控制元件-40
	1-控制元件-41
	1-控制元件-42
	1-控制元件-43
	1-控制元件-44
	1-控制元件-45
	1-控制元件-46
	1-控制元件-47
	1-控制元件-48
	1-控制元件-49
	1-控制元件-50
	1-控制元件-51
	1-控制元件-52
	1-控制元件-53
	1-控制元件-54
	1-控制元件-55
	1-控制元件-56
	1-控制元件-57
	1-控制元件-58
	1-控制元件-59
	1-控制元件-60
	1-控制元件-61
	1-控制元件-62
	1-控制元件-63
	1-控制元件-64
	1-控制元件-65
	1-控制元件-66
	1-控制元件-67
	1-控制元件-68
	1-控制元件-69
	1-控制元件-70
	1-控制元件-71
	1-控制元件-72
	1-控制元件-73
	1-控制元件-74
	1-控制元件-75
	1-控制元件-76
	1-控制元件-77
	1-控制元件-78
	1-控制元件-79
	1-控制元件-80
	1-控制元件-81
	1-控制元件-82
	2-控制元件-01
	2-控制元件-02
	2-控制元件-03
	2-控制元件-04
	2-控制元件-05
	2-控制元件-06
	2-控制元件-07
	2-控制元件-08
	2-控制元件-09
	2-控制元件-10
	2-控制元件-11
	2-控制元件-12
	2-控制元件-13
	2-控制元件-14
	2-控制元件-15
	2-控制元件-16
	2-控制元件-17
	2-控制元件-18
	2-控制元件-19
	2-控制元件-20
	2-控制元件-21
	2-控制元件-22
	2-控制元件-23
	2-控制元件-24
	2-控制元件-25
	2-控制元件-26
	2-控制元件-27
	2-控制元件-28
	2-控制元件-29
	2-控制元件-30
	2-控制元件-31
	2-控制元件-32
	2-控制元件-33
	2-控制元件-34
	2-控制元件-35
	2-控制元件-36
	2-控制元件-37
	2-控制元件-38
	2-控制元件-39
	2-控制元件-40
	2-控制元件-41
	2-控制元件-42
	2-控制元件-43
	2-控制元件-44
	2-控制元件-45
	2-控制元件-46

